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ﬁiﬁ% TREOBBOESSLADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREOHBERILNDOKRES
; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 000 ~ 6.21 7801 | =nLS 000 ~ 621177 9.45 Zzh s 1.00 | 5.00 ~ 7.20 7801 | #ns | 6.00 ~ 7201177 9.45
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 0.00 ~ 5.61 70.08 | #hs | 000 ~ 561 1.99 10.63 ZzhLs 1.00 | 5.00 ~ 7.00 70.08 | =nS | .00 ~ 7.00 | 1.99 10.63
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.03 75.60 | #hS | 000 ~ 603|183 9.79 ZzhnLst 1.00 | 5.00 ~ 7.00 75.60 | EnLS | .00 ~ 7.00 | 1.83 9.79
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.05 75.89 | #hs | 000 ~ 0.00) 1.65 8.82 ZzhLs 1.00 | 5.00 ~ 7.10 75.89 | =nS | 600 ~ 710 1.65 8.82
100kN/MZ#B% % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh st ~ Lt ~ Fhs ~ Fh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhLst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ zhst ~ zh st ~




